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Question Type: | MCQ
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Item No: 5
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Item No: 6
Question ID: 1169406
Question Type: | MCQ
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Item No: 8

Question ID: 1169408

Question Type: | MCQ
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Item No: 9
Question ID: 1169409
Question Type: | MCQ

}12= 8x+4 LDH)QJLD X +}-2 + 4—\5_\*——1: 0 %@LUEUDDWEU

Question: . , : :
epL LIGILMILD FIdl LIS USlesT LTLILI6T6)
1
A: E(2—12J§+5n]
1
B: —(2-12+/3 + 67
3 !
1
C: —(4-12+3 +3n
=4 7)
1
D: —(4—12 j+6:ﬂ:J
3
Topic: Mathematics-Section A
Iltem No: 10
Question ID: 11694010
Question Type: | MCQ

%: x+ y 6TEOT D 6UEM &8 (LD FLOEOTLITLLG60T @)(H Bey&Hel

¥ =y1(x) IDOMILD y = y(x) 6T6OTLIET y1(0) = 0 LM MILD y5(0) = 1

Question:
GTGOTMEUMMI D GTEITENT 6TE0TE. 6T60TI6D y = y4(x) LDMMILD ¥ = y5(x)
sraarLIeur Gleul_(Hib Lyemerflsserfleir eretoremi|semas

A: 0

B: 1

C: a2

D: 3

Topic:

Mathematics-Section A




Iltem No: 11

Question ID: 11694011

Question Type: | MCQ
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Item No: 12

Question ID: 11694012

Question Type: | MCQ
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Item No: 13
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Question Type: | MCQ
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Item No: 14

Question ID: 11694014

Question Type: | MCQ
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Item No: 15

Question ID: 11694015

Question Type: | MCQ
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Item No: 16

Question ID: 11694016

Question Type: | MCQ
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Item No: 17

Question ID: 11694017

Question Type: | MCQ
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Item No: 18

Question ID: 11694018

Question Type: | MCQ
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Item No: 19
Question ID: 11694019
Question Type: | MCQ
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Item No: 20

Question ID: | 11694020

Question Type: | MCQ

f: R — E eT6drm FMmLy:

[(s=1=3))dr, x>4

f{r] =10
Question: 5
x" +bx . x=4
@)\EIEG b € 2. 6T6T el T MISEHLUMBIE MG f eTOTUSE x = 4 7601
Liemerfluilel QsmL_geRumarsns @) (BHHme) HLD&H ST 615
2 eBuTemLDLLIGV6Y?
A: f 1s not differentiable at x =4
5
B: HORSIORE
1 : : 5 i
C: (—Cﬂ, gju[ﬁ,a:] -@)6V f ETETLIG S (hID FITTLY
D: x=2 TETUS f5& @ LIbFTibhs FFm o@D,
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Item No: 21
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Topic: Mathematics-Section B
Item No: 22
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Item No: 23
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Question Type:

Numeric Answer




gX_ Y _ | aam G U TEUEMETUI ST GOT (LOEDEITSHEIT

49 64
eudlwimss Hemeul L b E:Q+ ;
2 3

=1 QFavEmal. Hemeul LD E -

Question: @)60T QB L F& 10MMID GHME 56T S LTeuemeaTLD H @6t
SIEMetT 0L (KD (HMISHEH F&SHEHLET FLOWDTSH
GILIM(HIHH S S TMeT. E L0MMih H-G) 60T 6mLDLLIS6 & Teme) 5
& 561 &6 6T Gl LI (HE:&H60 %%@m. I eredTLIg HeTaul L LD E-@)6L
GlFeuaIEHM ST HemiD. etanflel 1131 —@)60T DG

Topic: Mathematics-Section B

Item No: 25

Question ID: 11694025
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Numeric Answer

sin(Z,ﬂrz] log [1:3113;:2 ]a‘; + (4,1}' —4-2x sin(.'s:2 — %]] dr=0,0<x< E
GTEOT[D GUEMEEGIH (LD SFLOGHTLITL L 60T BIJ6) 6U6D6TEU6mIT

Question: ¥ =1(x) 6T6OT LIS [ \EI] eT60T D L6iTerfl eudlimes QaFeuHImEl
6T60T&S. 6T60f 6D 1[\{’;:”@ LD IL :

Topic: Mathematics-Section B

Iltem No: 26
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Item No: 27
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Item No: 28
Question ID: 11694028

Question Type:
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Iltem No: 29
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Iltem No: 30
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Item No: 31

Question ID: 11694031

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 32

Question ID: | 11694032
Question Type: | MCQ
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Item No: 33
Question ID: 11694033
Question Type: | MCQ

5 ms™! HleneFGeuss S SIL6T @) WnmiEls G s mesnd (has LD e 0H
SLSHID Ul emL g Blemeulms 2 6Ter 0 @WhHE 78 % 60lmbs

Question: 0.5 kes! ef585G)160 WneTEL GEBTLLLILL (& G&meT 0 (h&EE M.
2185 Glenes CaussCasm(h LULaMLaMLS 6STLIHS @WUhRHS
CxmemauliL(HID SmeoT:

A: 1.25W

B: 25W

C: 6.25W

D: 125W

Topic: Physics-Section A

Item No: 34

Question ID: 11694034

Question Type: | MCQ
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Item No: 35
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Item No: 36

Question ID: 11694036

Question Type: | MCQ
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Item No: 37
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Item No: 38
Question ID: 11694038
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 39

Question ID: 11694039
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Topic: Physics-Section A
Item No: 41
Question ID: 11694041
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 45
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Question Type: | MCQ
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Item No: 46
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QaT_s55560) 6un Hi6t Qemr e EIular GlummmeT @ Glevaireny
srhnlev 2 siers (sperflailevasey erenor 1). & @UCLIMTSE
sretoTemennT WWileL (gperflelleuas6l eretor 2) emeus S LILIL IQHER DS,

Question: 2emeuberid Gasmeoor L e GMILILSIL L eperfla@ ereooramenor uiley
mietor Qevor e &l Wiletr LN ffl&mesr inmmiuml_emL & SHers % La)L.
(BCLD 2 _aiterm el LlILm&efl6) @umha FifluwmeT spairemma
CaImESHMH)
A srevoremenor uileb LIflE metr smmnlev 2 eitemems i (Eurreu%
DL RI&HTSH @) [H&HELD.
B: grevoremenor Wile LN metr &mmmle 2_sitemem s L1 GLIMEY
' @ (HLOLHISTH @) (HHELD.
c. srevoremenoTwile L&l metr smmmley 2 citemem s L1 @LIMEY HITET
' LOLRI&HTSH @) (H& G0
o, erevoremenor wWiley L&l mesr smmmléy 2 citerem s L (Eurreu%
IDLMISTSH @) H&HGLWD.
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Topic: Physics-Section A

Iltem No: 48

Question ID: 11694048

Question Type: | MCQ
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Topic: Physics-Section A
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Topic: Physics-Section B

Item No: 51
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Topic: Physics-Section B
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Item No: 55
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Item No: 56
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Iltem No: 57
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Topic: Physics-Section B
Item No: 58
Question ID: 11694058
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Topic: Physics-Section B

Item No: 59
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Topic: Chemistry-Section A

Item No: 61

Question ID: 11694061

Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 63
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Question Type:
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Topic: Chemistry-Section A

Item No: 64

Question ID: 11694064

Question Type: | MCQ
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Topic: Chemistry-Section A

Iltem No: 65
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Question Type: | MCQ
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Topic: Chemistry-Section A

Iltem No:
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Question Type:
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Topic: Chemistry-Section A

Item No: 67

Question ID: 11694067

Question Type: | MCQ
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Item No: 68
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Item No: 69
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Topic: Chemistry-Section A

Item No: 70

Question ID: 11694070
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Topic: Chemistry-Section A

Item No: 71

Question ID: | 11694071

Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 72

Question ID: 11694072

Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 73

Question ID: 11694073

Question Type: | MCQ
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D. yesmeng(® = | IV. Foubrs un&lly
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C: A-II. B-IV. C-1. D-IIT
D: A-ILL B-IV, C-II1, D-I
Topic: Chemistry-Section A
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A eTeor6) D MG TEITM) STFesoTd R 6T60T6) LD
@O Oul (emenal.
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197 metTeru-[10] 2y sm16dl6br o &l wemey (LNEMMEW SCrmInmL 1] &,
2ICTTIOMLIY & SHEOTeMDWIMM. ECTTIOMLI9.& WM MWD
SICTTOMTLI) & S6OTemDLIMM LIgooTL| Gl&meseT Leméll
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G BT (H&H 560 Ceuentr(hlLD 6T6dr LIS 625 (LD &5 WL meuT
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CaTGE IR CsTEGE 112 L QUTHSHH.

smeblss gyubleu Lhs@mLh
Limedl eTehuLi.

QemEs I QsTES I
LI6ULILY S 6T QsmSlmpenm QUWITSHET
A Seormey oMouih I ElaflliLmé
LI [T LO meU1g 65 a1 ()
L&\ i asair.
B. 1.3-U9w " Lmem L fedr- II. QBTUMEVTE
eruemLifsir Lisuedleor
LIGULILG .
C. Elemar&: smey MM III. ugeorm-S

D. BemeTs &Ml DmHmh
GLlsmeils oydleuid
S LmedleTeruLiy.

IV. QL& & Tmenr

&G srLULl_(heTer eumiiliLsefle) @mba Wl&sa)n
QUMHSSLOTET 6ReTeNMES C&HIHG&H(h& &6 LD:




A: A-IL B-III. C-IV. D-I
B: A-IL B-III. C-1. D-IV
C: A-IL B-I. C-IIL. D-IV
D: A-IIL B-I1. C-IV. D-I
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B: 3L 6VEL MG L @rimely

C: 2L &Fme0l& 2uleuid

D: B CLIMOL L Grmei

Topic: Chemistry-Section A

Item No: 78

Question ID: 11694078

Question Type: | MCQ

Question:




CaTGE IR CsTEGE 112 L QUTHSHH.

QsTES I
L ner&Gamiey H&EE

II. 330 IDLMIE &SHLIDLEF
Fr&samyenw 69l

B. HBla @eflliys

FH60Te L0 () &5 TE0uT L&l

CH; CH,
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NHNH, 1. GUITENS S(HLD
C'@/\/ a5 56
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v
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BCW syl (heTer eumiliLseafley @mba Wlsab
QMBS SHLDTET eReTemME CHITHGSH(H & HELD:

A: ATV, B-III. C-I1. D-I
B: A-IIL B-1. C-II. D-IV
C: AL B-IV. C-I, D-T1
D: AL B-1. C-IV. D-II
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CaMEVEREITHEMET 246 b mlwh smifluien (pemmulled 0.45 g

DGR EIT6IT 62(H &IfL0F CFFLOLWD 0.36 g AgBr 88 SIHFE MG, eTenfl6)
CFrngElev 2 eimer LG mllafler Fsaisid. (BLOMeUMT Blemm: AgBr
= 188 g mol L. Br:80)

Question:




A: 34.04%
B: 40.04%
C: 36.03%
D: 38.04%
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CaTEE IR sTEGE 112 Lar QUTHSSHSH.

QsTEH 1 QETEs I
A QueTEeir I eprflemenoT L 2L et & & menT
e G LIT6 60TEY G&ms e060T
FHGemmemn (b

B. QM mLILD6oT I eSS Qs s

LGrmemin(y eflemeor

Question:
C. SMIemLIGy oyLieir III. anfledren@uTs &reofl
el emenr
D. am e Glens IV. 2CFmF WG 1q Mamer alleneor
BCW syl (heTer eumlLseafled @mha Wlesa)h
GIUMHSHLDTET 6ReTeNMSE CHI H6&H(h& &6 LD:
A: A-TV. B-IIL. C-I1. D-I
B: A-TV. B-1I. C-1. D-III
C: A-IIL B-IV. C-1, D-1I
D: A-IV, B-III, C-1, D-II
Topic: Chemistry-Section B
Item No: 81
Question ID: 11694081

Question Type:

Numeric Answer

620H ST UMTEHS56060 20 ml yemeyemer 0.02 M K,Cr,0; &emI&ev.

Question: 10 ml =yemeyemer 2ylle Fe?™ senpaais@ CaHemeul Ll L gi. eTedile)
Fe*™ sempaedler Guomeumillig x 1072M.
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2NO + 2H, — N, + 2H,0
ereorm ellement 800°C-uwiléL BlasWLsS & LILI(RID CUMS
2L euememnruileb @ et BLh & aeor L (LDIQ.6) &6 GluimUiLL L e,

&) eTenoT | H2 / kPa —6lil6ir | NO/KPa—efil6iT | gy, mihu
LT Uiy |ellemen Gaus D
- WS HD/kPa | (&S LD/ kPa - do)
Question: :iwkpa;m

N dt )

1 63.6 40.0 0.135

2 636 201 0.033

3 386 656 0214

4 192 63.6 0.106

eTenfl6b NO emeull QUTMIS & ellemeorulleir cuemas .
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BLE&STL 9L 5HmF (hHe6) eTHSHMer UMTMSHTHSS & 60ren 0
Question: G\ & ITEBOTL_6MEU?
Na,0, KO,. NO,, N,0. CIO,, NO, SO, CL,0
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DM S(DSHHEI60 625 HELEOlweV L] sumweiledr Gmeumy GleuliL
gL S medr 20.785 T K lmol ™. Gnawih @) semenr 300 K @) e mb &l 500
K allh@ &GHUGSSIDEUTE MU & SLMHMED ImmMmLD 5000

Question: i 2 : e B ;
T eTeufl6V. LDMMIT &eur yemelile 2 eirer eumwailedr Gomel serfleor
eTevoTeO0 |G emas_ [aflemL 2 (HEI6L 2 6Term (DD eTetoTenl|60]
(Qer@&slul Lg: R =28.314 T K lmol )
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MO Q& mememsuilaTug SihssarLeummle) pss LileneooriiL|
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Question: g i
cTeuuTEnl | HEM Hs
CN-, NO", 05, 0,%, 0,7
Topic: Chemistry-Section B
Item No: 86
Question ID: 11694086

Question Type:

Numeric Answer

310 K-alil6b Bifl6b CaF, —ailetr semn GBI medr 2.34 10~ /100 mL . er6nfleD

Question: . ) o7 i o
CaF, —-al60T SemTEIMmeT GlUmSHSHLD x 107° (GLDm6L/L) .
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CoCl5(NH;), 67601 eumIIUm(h 6&mesor L 2 emestrey & CF L0 &) 607
SHenJEFeiletr &G sIEmer oemai(hseflaruig e e 1:1

Question: : - ; ; ;
Wleor L erf! eteor MWLILGE DS, eTa0fl60 B SE 2 60)600TE &
CFJIDST60T (LS EOTem LD (@) 6 6tur B (D 60T
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KMnO, 2 L 65T idleuih 6065 2,5Fmells 2idlevsems Sirid

Question: UTTSH60 Bl&D&SSIIDCLTE (N6 Blemeuulley & miyLient|ehr
L HFRCarMHM Blemeuuwiley gmu(h WMMMLD
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62( ereuredrenBlG DM GlameoorL sevemeauuilerr gerflemome) +12.6°,

Question: Gsyid (+) DTHMIWSEHET BIWLD HLMT) CHmenorLd +30°. 676l 6L
215607 gperfl L ME) griiemn
Topic: Chemistry-Section B

Item No:

90




Question ID: 11694090

Question Type: | Numeric Answer

SO,H OH

@ spehlh @ NaO)f {EXCESS) @
. s y
I II

Question: ereoTm GlilemenTullel (&6 el emeoTulletr % elilemena 6L 60%. GLOEWLD
@) Tevor_meudl LGS ellemerulleir % allemengael 50% FaaisD.
ereutlev ellemenruwilar QTS S allemenaaey  %. [allemL 2y (mE 60

D GITEIT (LP(LD 6T60oTEn0T 160]

oleum=6p60dlLLILD




